HREESARBRE EREASEAD GHEAER)

A m| T H O

58 KB #HE 48K EDE 4 8 KB #AE 5AX | 4AX  4A8A X

- 5 £ B £ 5 - £ ] A EDE B &

W # 5, 861 2,921 2,940 66 34 32 5,795 2,887 2,908 3, 851 59 3,792
it X 688 421 267 18 10 8 670 411 259 455 18 437
B X 935 480 455 7 -6 13 928 486 442 587 4 583
X 1,815 819 996 16 15 1 1,799 804 995 1,206 12 1, 194
ImX 412 218 194 12 7 5 400 211 189 272 15 257
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# 34 3, 851 b, 861 2,921 2,940

i K 455 688 421 267
BT E N 192 313 195 118

JE R AT E N 263 375 226 149

B K 587 935 480 455
XA PTE N 463 728 362 366

£ L aRATE N 124 207 118 89
FREX 1,206 1,815 819 996
MR XTI 420 644 279 365

A RATE N 183 292 133 159

A AR N 603 879 407 472
ImX 272 412 218 194
VLR X A% T N 237 357 176 181
Ak H R T Y 35 55 42 13
MERX 151 286 113 173
X FTE N 109 221 98 123
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A XA AT N 119 204 87 117
W5 R AT N 8 14 6 8
HIE RS N 16 22 10 12

[ P 816 1,158 602 556
P XA FTE N 319 541 277 264

V8 R AT E Y 410 496 252 244
Bg R N 87 121 73 48
FEERX 221 327 165 162
VO T XA T N 142 194 94 100
== AR A 18 33 15 18
PO BT N 34 54 30 24
R E N 21 34 19 15
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